|) Given the circle below, what is the measure
of £Z?

A, 74
B. 102°
C. 106°
D. 112

4) If the radius of the circle below is 9 m,
find the approximate area of the shaded
Tegion.

B. 163m? D. 191 m?

_5) IfEH = 1/55, what is the approximate
length of EG?

A. 24 feet C. 3b feet
B. 27 feet D. 32 feet

2) If 4BandBCare tangenttocircle D,
AB = 15 inches, and DB = 17 inches, find
the perimeter of 4ABCD.

A. 42inches  C. 50 inches
B. 46 inches D. 64 inches
;,9 Give the equation of the circle

(x + 5)2 + (v~ 1)* = 16, which correctly
gives the center and radius of the circle?

A (5-1);r=4  C. (5-1);r=8
B. (-5,1);r=4 D. (-51);r=8

&9 Find the exact area of the shaded region.
AQ =5 AC= 8.

3) The equation of a circle is x2 + y2 + 14x — 16y + 77 = 0. What is the center and radius of the circle?

Show your work to justify your answer.
a. Center: (14, -16), radius: 8.8

b. Center: (-7, 8), radius: 6

c. Center: (-14, 16), radius: 8.8

d. Center: (7, -8), radius: 5.2
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9) Find each measure.
TN
a) mML =
b)Y msJILK =
cymsILM = ___

—
d) mMJ =



If the circle below has a radius |/0) 777 1) oxv
of 15 cm, find each arc length. |

IZ) Set up an equation that models the diagram ! 3) Set up an equation and solve by factoring.
and then solve it for x by factoring. ”
| Area of rectangle = 84
Area of trapezoid = 32

X+ 6

m{) The equation of a circle is 4x? + 4y% — 16x + 24y — 36 = 0. Identify the center and radius of the circle.
Show your work to justify your answer.




9) 1f the radius of the circle below isO.m,
find the approximate area of the shaded
region, | .
— 222 (9
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A 152m €. 178 m?
B. 163m* (D,)191m?

5) If EH = 15 ft, what is the approximate
length of EG?

A 24fect  C. 30 feet
B. 27feet  D. 32 feet

2) I ABandBCare tangent'to ditcle D,
AB = 15 fiiches, and DB = 17 inches, find
the perimeter of ABCD.
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4) Givethe equation of the circle

(¥ # 5) + (3~ 1)? = 16, which correctly
. gives the center and radius of the circle?

A (5-)r=4 € (5-1r=8
@B r=4 b (5 1)r=8

(a) Find the exact area of the shiaded region.
AQ=35.AC=8.
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3) The equation of a circle is x2 + y? + 14x — 16y + 77 = 0. What is the center and radius of the circle?
Show your work to justify your answer. z 2 -

" Center: (14, -16), radius: 8.8 KHWYx 4G + = 1&3 +ol4 =< =37 +49+6¢

Center: (-7, 8), radius: 6

Center: (-14, 16), radius: 8.8

Center: (7, -8), radius: 5.2

& r oo

(x+ P f(j -#) %= %)

AanHr (-7;?) radnes: b

9) Find each measure:

a) mML = __/ZL?_Q_
bymsiIK=_b7
€) msJLM = ___Z_LO_
dmitT=__ (2"



If the circle below has a radius oW .
of 15 em, find each arc length. | o4
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Iz) Set up an eguation that models the diagram / 3) Set up an equation and solve by factoring.
and then solve it for x by factoring. |

_ Area of rectangle = 84

Area of trapezoid = 32 |

| il 7 sy~ (er2)oen)
425 (2x+DX

2 &Y= X2+C}x4«{¢
: 3 -2
232 x4 EX )= XEHax-30

= 22 /‘/C‘-S
2. :
2a=,7<1+‘fl>< ‘ % %‘f | 0=0x41¥)(x-5)
b=x +0*” K=
b= (x+&)(X-4) _ @

u/) The equation of a circle is 4x2 + 4y? — 16x 4 24y — 36 = 0. Identify the center and radius of the circle.
Show your work to justify your answer.

é/x’?'-‘/éx +S/j2+a.9!j-3&=o (d}wal@ épj )
%7‘~4x+.j’-+lay-9=0

Xy v 2&71—9?9."*.‘/*9

(x-2)*+( j+3)"‘=a?;a

C‘U\\/’V (2-2)  rodows = Jz2



